Name: _______________________________________ Block: ____________

Algebra 2 w/ Trig
Chapter 1 – Quadratic Modeling
[image: image1.png]Write a quadratic function in vertex form

Write a quadratic function whose graph has vertex (-2, 3) and passes
through the point (-1, 1).

Solution
y=alx—h2+k Vertex form
y=alx+ 22 +3 Substitute —2 for / and 3 for k.

Use the point (=1, 1) to find a.

I=a(-1+27%+3

l=a+3

a=-2

A quadratic function for the parabola is y = —2(x + 2)? + 3.




[image: image2.png]Write a quadratic function in intercept form

Write a quadratic function whose graph has x-intercepts —2 and 1, and
point (-1, —4).

Solution

y=alx—p)x—q) Intercept form

y=alx+2)x—1) Substitute —2 for p and 1 for q.
—4=a(—=1+2)(—1-1) Substitute —1 for x and —4 for y.
—4=-2a Simplify coefficient of a.

2=a Solve for a.

A quadratic function for the parabola is y = 2(x + 2)(x — 1).




[image: image3.png]Exercises for Examples 1 and 2

Write a quadratic function whose graph has the given characteristics.

1. vertex: (1, —4) 2. vertex: (=2, 1)
point on graph: (0, —3) point on graph: (—1, 0)
3. x-intercepts: —3, 1 4. x-intercepts: —4,2

point on graph: (=2, —6) point on graph: (=2, 16)




